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kx Test Summary Report *****

Section - 1 (Marks Scored : 100/ 60]
# Q No. Q. Q. Tag Status Time Taken Marks
Type.
1. 421 [mc-sa assessment v 00:03:41 1

Who confirmed that "Animals live by breathing the air left by plants. Plants live by absorbing the gases left by animals"?

"300),00 SBOS TOR eI 25080 BIYAN. BWOBIHEV SBOK T AN FE),ed DOV BI0w.” 8D RFBodd TF33E?
@ Priestly /38 &
(O Vvan Neil / 5§ &
O Went/ 308

(O Robert Hill/ o228 &

2. 433 lMC-SA assessment v 00:00:23 1

When a doctor is recording your pulse is pressing on your wrist exactly on a

C;"gs >& A)YOBH 3es 3338'358\) c‘ég 320 DIKID H50D0¢E0 T3°5T° BLVRIKI0ET O
(O Arteriole / mecsoen
O Vein/2s
@ Artery / 5300

O Capillary / 558% w95

3. 431 lMC-SA assessment v 00:00:35 2

Which of the statement is correct for Diencephalon.
808 T57508° TrgsR*go HBod BB T80 1 MHBoSod.

R: It controls body temperature, sleep and hunger
R : 28 388 e, 8, 859 9dogPpo8.

S: It controls pituitary gland

S : HOHIPA Jo8 59D DA0BR0E.

Both are correct / (R, S 3ot d&758)
R, S both are wrong / (R, S 3ots~ ed3850)

R is wrong, S'is correct / (R ed&50, S 3¢g50)

O O O @

R is correct, S is wrong / (R d&g50, S e3850)

4. 415 lMC-SA assessment | [ pagel v 00:01:11 1
q4

Find the odd one out of the following:




808 TBS° B &y TR K8oB0s

The Ghaghara / $5°35°
The son / &858 %8

The Betwa / 83exg98

@ O O O

The Chenab / =5 58

354 lMC-SA assessment | (gl v 00:00:51

If L.C.M of first 9 natural numbers is 22 x 3P x 5¢ x 79thena+b+c+d=

3006563 9 95res Sogyge 8.0 28 X 3P X 5¢ X Tdeonda+b+c+d=
® 7
O 10
O 8
O 9
443 lMC-SA assessment || page 1 v 00:00:19
g2

How many Squares are in the given figure?

Fa 5e03008° IY) BESZB00 0P ?

16

13

15

O @ O O

14

416 lMC-SA assessment v 00:00:57

The area of a sector whose radius is 7cm and the angle is 120° is

7 0.5 T5R=80 38050 80 120°e0 59RS fezg088 JTeeg50=
(O 53.66 cm?
@® 51.3cm?
(O 53.1cm?

() 51.66 cm?

449 lMC-SA assessment || pagel v 00:00:25
q4

What is the missing number?

O Nl Y onn Ly AR K2



R AR TR
pr)

5 4 1 5 2 6
34 33 12
6 2 6 3 3 1
O 24
O 27
@® 29
O 26
9. 409 IMC-SA assessment v 00
Psoriasis is a
BAITDD IO 28 v
@ Skin disease / 3 358
() Rabi season crop / 58 &S Soe
(O Chinese dish / 3% $oesso
(O Famous lake in the world / §50$08° g0 9839
10. 452 IMC-SA assessment v 00
Choose the correct statements
DGR JISTe00 ?bgoéo&
1. Radius of atom 1 Pico meter = 10~ '2cm
SesaTen TogRego 8 BE° e = 10~ em
2. Units of lonisation potential - eV.atom
ea0DESE #o Freo - eV.atomn !
3. Units of lonisation energy — KJ/mol
e300 $88 Jureso — KI/mol
O 1,2True (1,2 H50)
O 1,2,3True (1, 2, 3 3¢50)
@® 2,3True (2,3 e50)
(O 1,3False (1,3 ©350)
11. 435 lMC-SA assessment | [ page2 v 00
ql0
The little “Iron man of India” is given to sardar Valla Bhai Patel in appreciation of this
S8 Seaserdi SES Ko grEsds ¥ 500 I B 8 HBod Asto BRA.
(O Legal Knowledge / 32505 S830% o S0
(O Suppressing Pakistan in war / 88 © o‘i)ogoe'is £.809508050
@ Firm determination in annexing princely states / 533 QoFTOR 2d%0 Sairer) &yt DEYAo
(O Differences with Nehru and Gandhi / 3go $080%0 moges® d3iere s°desore
12. 447 lMC-SA assessment | [ pagel v 00

g3

:00:53

:00:41

:01:30

:00:40



131, 242, 353, 464, 575, ?

696

686

787

O O @ O

676

13. 424 lMC-SA assessment v 00:00: 37

Which statement is correct?
808 B3S° B 33D 3°8507?

R: Pancreatic enzymes are secreted into Duodenum

R £ 83 208 e esogiureod™ gooswkearon.

S: Pancreatic enzymes digest carbohydrates, fats, proteins

S 5083 208 e 20& Ieegren, Egen, $0DK)HeR Bgo Sran.

(O Both R, SFalse/ (R, S oo emwesen)
(O RisTrue, Sis False / (R 3850, S emééo)
@® BothR, STrue/ (R, S o Se50)

(O RisFalse, Sis True / (R ©3¢50, S De50)

14. 436 lMC-SA assessment v 00:00: 30

The ratio of the area of a square to that of the square drawn on its diagonal is?

28 IB0EJ 53_%“’0‘5&% 308 &5 I8P EGo ghesor K)Béoﬁ)c‘é BB 63_%"&)‘“55)5 Ko dHB?
O 23
O 14
@® 12

O 21

15. 356 [vc-sa assessment | (q2 v 00:00:31

The Mean of 20 numbers is 23. If one number is excluded, then their mean is 22. The unit digit of excluded number will be

20 Sogge dMexn 23. DBE" 2.8 Sopgio FeRoSm RAD Doase Bt 22 wand & FoRodD Sogy ), a8y FHoS™ @08
O 1
O 8
@ 2

O 6

16. 429 lMC-SA assessment v 00:00:45

Which of the disease caused by genetic disorder of Vit — K?

808 3" 3 358 Vit — K asidog &0 30 53008,
(O Rickets / 83¢5)
@ Haemophilia / 235°H&ass

(O Scurvy /5,65



19.

(O Night blindness / 35%¢3

17. 437 IMC-SA assessment | [ page2 v 00:00:48 3
qll

Which is not the aim of 42" amendment of constitution
808 3" 42 3 Trargol B58es AB0E), SRy &BE50 SRE?

(O Making the judiciary subservient to parliament / FARSFIY FI00e5H S*& &oder Jahcko

(O sStrengthening the central governments / 30g SghaeeRo 220980

O

Providing Maximum protection from judicial challenges to social and economic transformation legislation / &v$5°e3%, esgé Soesn8 éé%o&é BeroLH FogogTre
$009 FeBP0 SEeard Eéyoseo0

@ Including the courts from election disputes / d9se &maresy 5% K866 Ss¢o

18. 423 lMC-SA assessment | [ pagel v 00:00:33 3
g8

Which is not the correct set
808 73S° 58500 & IB?

i) Northern people’s congress — South Nigeria / g8 Hese 2030 - $8e JB8ar
ii) The National council for Nigeria and the Cameroon — West Nigeria / 32855 , S3085°5) erda 90500 — 5855 3265
iii) The action group — East Nigeria / o585 K1) — 807y 39805

O ) &iii)
O i
@ i), ii) &ii)

O i) &ii)

359 lMC-SA assessment | [ g3 v 00:00:43 3

If Sec = (1.3)° then Cosecf) =

Sech = (1.3)%° o Cosech =
O 0.3-
O 1
O V2

® 2

430 lMC-SA assessment v 00:00:30 2

The sum of the Squares of the sides of a rhombus is 1600cm?. What is its side?

2.8 002 ghere a3us), Stre Sgo 1600cm?2 es000m° €3 TroD 850830 Jos?
O 25cm
(O 10cm
@ 20cm

(O 15cm

454 bvc.sa Scceccment . 0000 36 2



How long time the light take in travelling a distance of 500m in water?

2e36° 50020 HOee300008 SP0B8 Heg DHAH0 Do ?
Note: u for water is 4/3 and velocity of light in vacuum is 3x108 m/s
KS008: De3 38855 Hoeso Dens 4/3 S08okn d508° srod3Ko 3x108 m/s

O

O

O

®

22.

Statement A: For any two positive integers. a x b = HCF (a, b) x LCM (a, b)

0.45x10%s
1.67x106s
0.6x10°s

2.22x10°Cs

428 lMC-SA assessment

25850 Az a, b eo Boo &S I°g Sozgen 3 K.de.se X Ko =axb

Statement B: The HCF of two numbers is 5 and their product is 150 then their LCM is 40.

33500 B! Bocsd Dogge K.20.5° 5 $08050 3763 00 150 @000k 73 .30.10 40

O

O

O

®

23.

Both A&B are False

A & B 30e8o° 588 5°9)

Both A&B are true

A&B Bodsr 533

Ais False, B is True

A 5858 5°650,B 9358

Ais True, B is False

A 3358, B 53356 s°¢%0

450 lMC-SA assessment | [ g5
page2

Which is 10th Consonant in the English Alphabet?

&30/ S5EIT°0 50Ky Mo HEH T @ETR) Ko8o:Sod

O

O

®

O

24.

N
J
M

L

406 lMC-SA assessment | [ pagel
g2

Himachal Pradesh has low mortality because

TRSS S8BT THOS’ BDSTET 35 S5, IT &0cerdS S0

O @® O O

It has poor Net attendance rate / &%), Sfesth Sexd ésocicso

It has good climate conditions / 3009 FP@°S8es S80S0

00:00:50

00:00:53

00:00:44

It has adequate provision of basic health and education facilities / 5259250 a&sné S08a deegRETRgen E&)ocio

it has adequate infrastructure / 52505 $3°9¥ S&oarasirrenotétio



400 lMC-SA assessment

Two bodies at different temperature are mixed in a calorie metre. Which of the following remains conserved.
DDG BB Ko Bots STrgroy 8658 WeE! Kerdr 808 THOS’ DB BT &oenos.

(O Total quantity of Heat of the two bodies / 3o Sorgee 3ogo eglo°3
(O Sum of temperature of two bodies / ot Soegre 3ngo &l
(O Internal energy of each body / 2.87%); gy wosgs 38

@ Total internal energies of the two bodies / doo Jergre Jngo eosde &
n —o

26. 455 lMC-SA assessment

A ray of light passes through an equilateral prism (refractive index 1.5) then the angle of minimum deviation is?

vu-ulL 11

00:00:42

002750 GAETE)S Ko Sgg¥0 (S8 3859 1080 1.5) 10T 2.8 5208 emd) SOV TR KR DIOD KHE0 Jenss J0s?

o 0
O 30°
@ 37°12

O 45°

27. 427 lMC-SA assessment

CgH1,06 + 60, — 6CO, + H,O + Energy this equation indicates?

CgH1206 + 602 — 6CO; + Hy0 + Energy $omgo & 258ah K0 8°95008.
(O None of these / 38 s°¢
(O Photosynthesis / 85gsas590035°K §%
(O Fermentation / 8eagd0

@ Respiration / 32 §o%

28. 371 lMC-SA assessment | (8

In the following figure, XY || BC and ‘)A(—)é = % = % then

88, 9008° XY || BC 358050 % = % = %e)o)oé

A
X Y
B N C

O XY?=3B(?
O XY =BC

O XY= $BC
® XY= 1BC

29. 366 lMC-SA assessment | [ g6

A Quadratic polynomial, whose zeroes are 5 and —8 is

00:01:22

00:00:45

00:01:37



30.

31.

32.

33.

5 S08as» —8 g0 EORD B3GerTHE

X2 4 3X + 40
X2+ 3X — 40

X2 — 13X — 40

O O @ O

X2 —3X — 40

442 lMC-SA assessment || pagel v 00:00:48
ql

Which of the following is related as Chalk and Black board
o8 08050 g8 &8 DowosHn 58 S+ o8 dS" B8 &9B?
@ Ink and Paper / 205 508050 56
(O Student and Books / 33G0e5 558050 ey
(O Chair and Table / 36 38050 &ends

(O Paint and Brush / 20:00€5 508050 @

417 lMC-SA assessment | [ pagel v 00:00:58
g5

Which is the incorrect set
808 503S° 58500 @ IB?
@ Town — between 3000 to 1 lakh / Sgeseen - 3000 5009 2.5 oF 0655 Ko esmrgr G Heyea Frowren
(O Mega city — more than 10 million people / So5%Kcren - §%3 w78 2009 ey Siforen
(O Class 1 city — between 1 lakh to one million / 50 1 diforen - a8 0F — I8 ofe 08 esRTer €3 P0TRV

Metropolitan city — one million to 10 million / 30&%e0e0S Siioren - 98 oFen — §%3 S50¢ss saeer &y HSiTeen
p % &0 5 Q

377 lMC-SA assessment [ qll v 00:00: 38
A={x/x is divisor of 12} then the number of subsets of A is
A={x/x 38 12 dB2¥); 2rago } eond A g, &S5820800 S0y
O 16
@ 64
O 128
O 32
420 lMC-SA assessment | [ pagel v 00:00:51
q7
The year in which comintern formed
£°203 e§) AGHED Doseyso
O 1916
O 1917
@ 1919

O 1918



34. 432 fmc-sa assessment v 00:00: 43

Along the path of Vas — deferense the secretions of which gland provide nutrition to the sperms

DETIE GO0 DB StIGS DY Ee0 983es0 @0803 Hogoen.
(O Urinary bladder / Soegesoh0
(O Prostate glands / 2263 508
(O Scrotum / gesanrso

@ Seminal vesicles / %§ margen

35. 410 fmc-sa assessment v 00:01:01
tanl®. tan2°. tan3°. tand®....... tan89° = 7
O 90
OR!
O 89
Oo
36. 412 lMC-SA assessment | [ pagel v 00:00:44
g3

The reason for not availability of jobs in organised sector at ease is

353088 o0&’ Qegore &&§fio SEEEHEITRS S°6e0
Lake of skills in getting job / &&°m038 25038 Jdergen Ssa85c0
Run under government control / ggeg dressoridgos® Sesco

Heavy Competition / K3 @se3

O @ O O

Less productivity / &%0)5 ez &5

37. 438 lMC-SA assessment | [ page3 v 00:00:30
ql2

Which is not the correct set?

B DD 23 5°0?
(O Welfare schemes for poor - N. T. Rama Rao / 2% 503530 9¢5°e0 — IS, 3. oobroes)
(O Telecom revolution — Rajiv Gandhi / &&s°0 9350 - o288 o8
@ Coalition government — Lal Bahadur Sastry / S08g Jesoeso - o TS a‘ﬁ

(O Constitutional status to local self-governments - P.V. Narasimha Rao / 08 K>o§e>§> orezgolf S5 - 9.9.9820350°)

38. 419 lMC-SA assessment | [ pagel v 00:00:35
q6

Sujatha went from Guntur to Vijayawada for work 5 years ago. What does this refers?
D0e3°¢ HAEW0 060378 H008 DeAHTEKL 5 Ho||o §o 3)0B. 1B BID WrdRos

(O International Migration / eosg&as S0

(O Temporary Migration / &&),0% S



@ |Internal Migration / esos8e Sed

(O Seasonal Migration / seersores S0

39. 456 lMC-SA assessment v 00:00:35 3

It in a Plano-convex lens radius of curvature of convex surface is 10cm and the focal length of the lens is 30cm. Then the refractive index of the material of the
lens is
28 D080 Ko0grseE Se8o 03l S5B° amgrgo 10Cm 5085w prargosto 30Cm ©0d Ses) SEe° MHgaso Heus Jos?

O 2.42
@ 133
O 3

O 15

40. 361 fmc-sa assessment | (g4 v 00:00: 39 3

Total surface areas of the Hemisphere and cube are equal. If the ratio of volumes of Hemisphere and cube is K : 3\/7_r then "K" value is

E:Dg FES500 508050 H0R9:5000 X)o@“’g 319) gweémom 05000, 3763 HoHBRICEIL0O d;d K 3\/7—r 90003 "K" o0
O 8v2
O V6
® 4v2

O 2v2

41. 364 lMC-SA assessment | [ g5 v 00:00:45 1

For what value of “k” the pair of equations x — ky + 4 = 0 and 2x — 4y — 8 = 0 is inconsistent?

“K” a30%); Q 900350 X — Ky + 4 = 0 508050 2X — 4y — 8 = 0 5H058er0 3¢ 930/ DAEBETO) @HTOIT E30RH0d&?
O -8
® 2

O 4

42, 434 lMC-SA assessment v 00:01:12 2

What are the connecting substances between line and dark reactions?

5208 S080AK0 D08 BBFOR 59 Sogren?
O ADP and NADPH / (ADP 58030 NADPH)
() Oxygen, ATP and NADPH / (es&yesS, ATP 508050 NADPH)
(O ATP and NADP / (ATP $s8a50 NADP)

@ ATP and NADPH / (ATP :8a30 NADPH)

43. 411 lMC-SA assessment v 00:00:48 1

What can be find out from the graphs of ogive curves

5,835 555000 89 9T°0 5008 DD ERORTHSBIY90



Mode erosgo
Mean eaoé;i)ééé.)o

Range ;r°§§

®@ O O O

Median Sogsgrieso

44, 425 lMC-SA assessment || page2 v

q9

“If I am to die by the bullet of a mad man, | must do so smiling, there must be no anger within me, god must be in my heart and on my lips” who spoke these

words?

‘28 DTG 38 o8 § 3> w0 IO, HHIBET WO HEMYT R . TE° Ae30e3 SV GOEETER. T° TS’ Dare Hots B9E eowd.”

(O Subhash Chandra bose / 30g7Q $S0g &%
(O Swami Vivekananda / &0 9357508
(O Jawaharlal Nehru / &35 erd 3go

@ Gandhiji / ro&e

45, 374 IMC-SA assessment | [ q9 v

A= {x/x is a vowel in the word “MATHEMATICS"}
B= {x/x is a vowel in the word “EPIPHANY"} then n(A—B) =

A= {X/x ©38 “MATHEMATICS” &3 5¢506° 2.8 o3}
B= {x/x ©38 “EPIPHANY" &3 5506° 2.5 @3y} @ond N(A—B) =

O 2
O ¢
O 1

@® 0

46. 400 lMC-SA assessment | [ pagel v

ql
Which of the following statement is wrong
808 3" 965°0 7550 IB?
(O The west coastal plain has no lakes / 583> &80&° 5635 8.
India has a longitudinal extent of 30° / grs8sd%0 Sgrose SEom 30° 920 TD0d &o8.
2R
@ The Palk strait separates Pakistan from India / gr58@7°R), 830 &0 &8 #0308 3533008.

(O The average height of Himadri range is 6100 mts / 2558 3e3 c3oog); S g 6,100 ||

47. 376 lMC-SA assessment | ql0 v

The word “Tangent” comes from the word “Tangere”. What language is the word “Tangere”?

“Tangent” 3 o “Tangere” o 5o 00é S8, “Tangere” eod8 O gear Hi0?
O ltalian (aerd0HS)

(O English (20/%)

@ Latin (083S)

00:01:01

00:03:34

00:00:53

00:00:36



O Greek (88)

48. 426 lMC-SA assessment v

The Quadratic polynomial having roots @ = a — b, =a + bis

a=a—b,f = a+bsree SRS 58 2058
O z?+2bx +a?—b?
O 22 —2bc+a®>—b?
O z?42ac+a®— b

@® 22— 2ax +a®— b’

49. 418 lMC-SA assessment v

The value of sin?47° + sin®43° = ?

sin®47° 4 sin®43° = ? ooy, 2evss
O V3
00
O v2

® 1

50. 403 lMC-SA assessment v

Identify the song written by “Raiprolu Subbarao” in the following?

&5 §08 636" TaDien RuerTeR) TN AR HBoB0E.
@ Ye Desamegina Endukalidina / 2 8%3R7°, Jo&os2dés
(O Sare Jahanse Acha / 23 &35 ey
(O Desamante Matti Kaadhoy / %5008 3§ s°&°c5

Vijayi Vishwa Tiranga Pyara / 9es0a5° 935 S8orr aeso°
N )

51. 451 lMC-SA assessment || page2 v
q6

In a certain code, GOODNESS is coded as HNPCODTR. How is GREATNESS coded in that code?
2.8 §°& e3¢” GOODNESS 36 HNPCODTR 1 oroado8. ed §°& 2rad® GREATNESS &0 der ooapdd
(O FSDBSODTR
(O HQFZUODTR
() HQFZSMFRT

@® HQFZUMFRT

52. 408 lMC-SA assessment v

Who is the youngest cricketer made a double century in one day international cricket ?

28 8% @osgrdon 8365 29636° ¢and 2038 Bod wig0 DI J0JYES §366 B BB

00:00:39

00:00:33

00:00:35

00:00:56

00:01:32



55.

@ Subhaman Gil / 25508 RS
(O lIshan kishan / gaes 838
(O Rohit Sharma / &2 38,

(O Virat kohli / 9o°¢5 8%

53. 440 lMC-SA assessment v 00:00:51
What is the Human eye focal length value
JPRDD K3 As), mep";eﬁéo DeVD
1. Maximum focal length of eye lens 25 mm
Eoed e KBg Frgssosso 25 mm
2. Minimum focal length of eye lens 22.7mm
5063 568 50 reigossso 22.7mm
@® 1,2True (1,2 bé?so)
(O 1True, 2 False (1 3850, 2 &93850)
(O 1False, 2 True (1 ed&50, 2 350)
O 1,2False (1,2 ©3¢50)
54. 405 fvc-sa assessment v 00:00 : 47
What is the name of Buffalo race, the introduction scene of Hero in the recently popular movie “Kantara”?
S0 2 FeresSes 208K “SoTnS” DFoS® EErRraBy E0903 2u5085 DRI D SorRie 63 DBS?
(O Bhangra/ grore
O Jallikattu / es95gg
(O Bull fighting / 26 pe3of
@ Kambala/ gozrer
414 lMC-SA assessment v 00:01:19
Match the following
808 T30 ese8dBS08
| Land of five rivers ) New Delhi
26> DO &R P By G
i City of Golden temple a Amritsar
0TS BIPADO HKS0 ©30)5 ¥6
i Gate way of India N Punjab
' ReS 3 es5H qodasr Soexds
Mumbai
s)
30008
O i-q, ii-p, iii-s
O i, li-s, ii-p
@ i1, ii-q, iii-s
O s, ii-q, iii-r
441 lMC-SA assessment v 00:00: 37

56.




The rate of evaporation of a liquid depends on the following factors
&30 030%); eSS Be §oB @OTD SEESEIR).

1. Surface area of the liquid ($3 &388e Sz og50)
2. Temperature (&¢15)
3. Liquid vapor already presents in the air (md&® eossos008 3682 & &75)0)

None of these (98 s°¢%)
1, 3 only (1, 3 $5rgd)

1,2, 3 only (1, 2, 3 $5°gd)

O @ O O

1, 2 only (1,2 $5°¢35)

57. 401 IMC-SA assessment v

Recently most of the times we have been hearing the term EMI in the context of purchasing goods or paying a credit card bill. what is the full form of EMI?

s 508557008 SPHe FROR) / 3 5% g 390 35000S" EMI @93 5o $630m D00 8o, 38 EMI 63, 578 8350 / 8 220637

(O Equated mode investment
(O Easy monthly investment
(O Easy mode instalment

@ Equated monthly instalment

58. 446 lMC-SA assessment v

Colours of rainbow from revers respectively
QOGRS BorHe K300 SERTT JdoE 00

@® ROYGBIV
(O VIBGROY
O VIBGYOR

(O YORGBIV

59. 368 lMC-SA assessment | [ g7 v

For the Quadratic equation X2 — 5X + 1 = 0, then the value of X + % is

X2 - 5X + 1 =0, 55 505500, wond X + 5 e

® 5

O 1

60. 404 lMC-SA assessment v

If the Quadratic equation 222 + 5z + ¢ = 0 has real and distinct roots then the value of 'c’

S8 BdogBeso 222+ 5x+¢=0 CB0E); SoTePe0 DY) TS VoLV OV €

00:00:43

00:00:54

00:00: 37

00:01:02
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